EARAROBEEIERT — 2 N— IBISH —F

201558 A9H () 1miLiR4H

m"fﬁ%Sﬁi 500AT 4 [EE] =2 ‘ (X4&] # ‘ (@l — | & (&) 17000 &
[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N - LIUN 145. —5-2— . . BERE (E#
ilsl7| 771 ba7yey i 4 L 1(4_5)2 5-5-2-2 | 36.9| 93.3 | 2 :1_324) R s
L:ZZXHwR B:T7A I T 752 RS
R 145. -8-8- . . hEFRIE (EE)
0 5 dJtE4 vk X 5 4 55.0 (11 415/24) BEET 306 94 12 (4_22) *ﬁrﬁ?ﬁ:ﬁ—ﬁﬂ
LY L4 nN—b B:a)—FFILF BRRE AR
7 43 | ML 1:45.4 8-8-1-1 |37.2| 90.7 | 1 452 | ARENT (RR)
37|10/ 71—>X%2—=7 52.0 (F4<) (c2) | BRSHARE—K -T2 T
R:F4=T14>nNo B:75y70-Y% J=HYrTr—LA
R N A A : 54— HEEE (EH)
4 4| vamFeryo 4 3 S 1(;151:;5 6-5-4-4 |37.0| 90.4 | 7 (:&132) L i
XL THANAN B:oavF TV wr fx
. FERTN FTR 145, —-12-12- . . BIREIE (ER
sBNs| TR/ TUER I it [0 T it R Il I B 3
L:TUYAZRIL R B:TLFLRA HH B
N g LeILigE— 145. —4-2- . . EREE (ER)
6 =R 2 A=E R i 3 i 1(745t;5 3-4-2-2 | 37.2]90.0 | 5 (4_8; ik
LN—E>Tv— BNFILAARYY k77— L
. - FREFERE 145, —-2-8- . . HwHEZ (FX)
7lslg| X2 bES—FRY it 4 i 1(425>9 3-2-8-12 | 37.2| 86.7 | 10 12(3)53 drlrics
XD THANAN B:Ta—FvHTF— it
i 4 3 | EHPRE 1:46.1 2-2-4-4 | 37.6| 84.3 | 4 486 |ERF— (BR)
8l8l12|F—IAT7 21— 52.0 A 1/4) (6) | =EER
R:44TASv— B:ITOLR () #HBA-—KL—Ya>BETr
. “ 1BKI— 146. —5-4- . . FREFRE (BXR)
9813 BT INL Y P % 3 5370 1(34/64)2 6-5-4-4 |37.7| 83.4 | 3 (458) i
RiTANRTy Y2 BiA1YaINTINR ETte
= . 4 6 | MEKX(E 1:46.2 10-10-8-8 | 37.4 | 83.8 | 13 | 474 |HALCHHE (X&)
EE g| }TALA> 5.0 (1) o) | BHEETE
R:d—IWRT7Ya—Jb B:TF 1IN J—HrTr—LA
— - IEEHER : -10-12- AARES (FR)
1101 /®7>7/330A 4 6 nee 1.?26‘3.5 10-10-12-13| 37.5 | 81.1 | 9 (42:3) %EE%%
R:2RUIYRIZX B:TN—TFT5T J=HrTrp—L
3 4 5 | BEEK 1:46. 12-12-8-8 | 37.9| 79.9 | 8 486 | MRKE (BR)
127|111 ZAH I/ F b X [B] A52.0 (7€) Gy | ) BFoL—vry
R RKYZYXIR B:7AZAXYT (A) #A3-KL—ra>aEr77
¢ S _ 4 4 | EPEE 1:48.4 1-1-4-11 | 39.9| 66.5 | 11 468 | KIEBEN (FR)
EE o | RINA R v 1T 55.0 (21 4%) (1) | eI
RiTVEEE BRNAY—U5Y ek
@ 71 L
) 49.4-37.0
NA> R4 L | 6.7-11.1-12.4-13.2-12.4-12.4-12.5-12.1-12.4
® I —F—@EBIERL
13—4+— 2,12(6,9)7(4,13) (5,10) (1,8)-(3,11)
2ol=7r= 2(6,12)9(4,7,13) (5,10) (1,8) (3,11)
33—7F— |[10(9,7)(2,12,4,13) (6,8,5,11) (1,3)
43—+ — (x10,9,7) (12,4,13)5(8,3,11)2,6,1
[ RN
B OB 7 400M 714K 5-7 3,940 e & 4-5 4,770 &R 5-7-10 6,770
8 B 7 140/ 7-10 200 B & &=/ 17,930M 3B 7-5-10 68,530
5 880H 5-10 2,360 B H 7-5 27,380M
10 110

ABICOVWTRDTEEERROODE. TR LIV,




